t27_domain_1
(TMKZskhxMQg9xHUv2Gb417djPJUbZGLCnxx)

October 27, 2020

Let vl_zboole 0 : =0 be given. Let ml_subset_1 : t=>t=-0 be given. Let
kl1_zfmisc_1 : 1= be given. Let k3_subset_1 : t:=>1=>1 be given. Let k4_zboole_0 :
t=-1=>1 be given. Assume the following.

VX0.VX1.(ml_subset .1 X0 X1)=((vl_xboole 0 X1)V (1)
(X0 e X1))

Assume the following.
VX0.VX1.(X0 e X1)=(ml_subset.1 X0 X1) (2)

Assume the following.

VX0.VX1.(ml_subset_1 X1 (kl_zfmisc.1 X0))=(k3_subset_1 (3)
X0 (k3_subset_1 X0 X1) = X1)

Assume the following.

VX0.VX1.(ml_subset.1 X1 (kl_zfmisc.1 X0))=(ml_subset_1 (@)
(k3_subset 1 X0 X1) (kl_zfmisc_1 X0))

Assume the following.

VX0.YX1.YX2.(X2 = kd_zboole0 X0 X1)=(VX3. )
(X3 € X2)=((X3 € X0O)A(-X3 € X1)))

Assume the following.

VX0.VX1.(ml_subset_1 X1 (kl_zfmisc.1 X0))=(k3_subset_1 (6)
X0 X1 = k4_zboole 0 X0 X1)

Theorem 1

VX0.(—vl_xzboole-0 X0)=(VX1.(ml_subset_1 X1 (kl_zfmisc_1
X0))=(k3_subset_1 X0 X1 = ReplSep (toset (AX2 : t.ml_subset_1
X2 X0)) (AX2::0.-X2€ X1) (AX2::..X2)))



